

Bryan Mosher

z.umn.edu/mosher1271

$$\lim_{x \rightarrow 2^-} \frac{3x+6}{\frac{1}{x^2} - \frac{1}{4}}$$

$$\frac{3(x+2)}{\frac{4}{4x^2} - \frac{x^2}{4x^2}} = \frac{3(x+2)}{\frac{4-x^2}{4x^2}} = \frac{3(x+2)4x^2}{4-x^2} = \frac{12x^2(x+2)}{(2-x)(2+x)}$$

As $x \rightarrow 2^-$, $12x^2 \rightarrow 48$, but $2-x \rightarrow 0^+$

so $\frac{3x+6}{\frac{1}{x^2} - \frac{1}{4}} \rightarrow +\infty$ as $x \rightarrow 2^-$.

$h(r) = e^{e^{e^r}}$. Find $h'(r)$.

$$h'(r) = e^{e^{e^r}} \cdot (e^{e^r})' \quad h^{(100)}(r)$$

$$= e^{e^{e^r}} \cdot (e^{\square} \cdot \square')$$

$$= \underbrace{e^{e^{e^r}}}_A \cdot \underbrace{e^{e^r}}_B \cdot \underbrace{e^r}_C$$

$$h''(r) = A' \cdot (B \cdot C) + A \cdot (B \cdot C)' = \underline{A'BC + A(B'C + BC')}$$

$$\lim_{x \rightarrow 0} \left| \operatorname{Arctan}\left(\frac{1}{x}\right) \right|$$

As $x \rightarrow 0^+$, $\frac{1}{x} \rightarrow +\infty$ & $\left| \operatorname{Arctan}\left(\frac{1}{x}\right) \right| \rightarrow \frac{\pi}{2}$
 $x \rightarrow 0^-$, $\frac{1}{x} \rightarrow -\infty$ & $\left| \operatorname{Arctan}\left(\frac{1}{x}\right) \right| \rightarrow \frac{\pi}{2}$

$$\boxed{\frac{\pi}{2}}$$

$$\lim_{x \rightarrow -\infty} \frac{1+x^6}{x^4+1} \cdot \frac{\frac{1}{x^4}}{\frac{1}{x^4}} = \lim_{x \rightarrow -\infty} \frac{\frac{1}{x^4} + x^2}{1 + \frac{1}{x^4}}$$

as $x \rightarrow -\infty$,
 $\frac{1}{x^4} \rightarrow 0$, $x^2 \rightarrow +\infty$, so $\frac{1+x^6}{x^4+1} \rightarrow +\infty$

